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ham faTG: 0 
à-.4 AI (?40 fufa2) 

PART-1 ENGLISH| 
1. Selecct the world which best expresses the meaning of the underlined words in the given sentence: 

Raju is interested in the medical science which is related to the study and treatrnent of the diseases of the skin. 
(1) Paediatrics (2) Dermatology (3) Neurology Select the corect antonyms of Extravagant. (1) Sensible 

(4) Gynaecoogy 2. 

(2) Careful (3) Economical (4) Balanced 3. Name the Part of Speech of the underlined word: 
(2) Conjunction 3) Adjective Choose the corect Preposition in the given sentence 
her mother and father. 

(3) in 

(1) Preposition 
(4) Adverb 4 

She is sitting 
(1) among (2) between (4) at 
Name the tigure of speech in the following line: 
A sea of people listened to the leader. 
(1) Antithesis 
(3) Metaphor 
Select the corect Active voice sentence of the given sentence: Let the door be opened. 
(1) To open the door 
(3) Opened the door 

7. Choose the comect comparative degree of the given sentence 
Very few judicial systems in the world are as good as Indian judicial system. (1) Indian judicial system are better than the most other judicial system in the world. (2) Indian judicial system is better than any other judicial systems in the world. 
(3) Indian judicial system is more better than any other judicial systems in the world. 
(4) Indian judicial system is better than most other judicial systems in the world. 
Choose the correct Modal Auxilary showing strong obligation. 
(1) Soldiers may obey orders without question. 
(2) Soldiers must obey orders without question. 
(3) Soldiers can obey orders without question. 
(4) Soldiers will obey orders withOut question. 

9. 

5. 

(2) Personification 
(4) simile 

6. 

(2) Open the door 
(4) To be opened the door 

8. 

Choose the correct use of enough in the following sentence. 
(1) She is very strong enough walk five miles every day. 
(2) She is so strong enough to walk five miles every day. 
(3) She is strong enough to walk five miles every day. 
(4) She is enough strong to walk five miles every day. 

faEnRd 
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10. elect the most appropriate alternative to fill in the blank. What are you in 

(2) looking on (3) looking after (4) looking for 

the 

kitchen cupboard? 

(1 )lookingin 
Read the following passage carefully and select the most correct ang 

of the glven questions: (Q. 11 to Q. 15) 

The functional declines of advancing age are depressing. Ihe hearts ability b 

pump blood drops about one per cent: blood flows to arms and legs decrease 

thirty to forty percentage in old age. The amount of air a person can exhale aftor 

deep breath lessens and the chest walls stiffens with age. iowever, recent sturier 

have shown that most of those age-associated declines can be delayed by exercie 

Exercise lowers the resting heart-rate and increases the amount of blood purnter 

with each beat in older people. When stress in placed on bones through exerise 

calcium content rises, with the result that resistance to fracture is improved 

11. Old age is generally a depressing period because 

(1) Old people wory more than others. 

(2) Old people tend to regret their past. 

(3) Various organs of the body function less efficiently 

(4) Old people do very little work. 

12. The strength of bones can be increased by exercise, because it 

(1) increases the amount of blood pumped by the heart. 

(2) increases calcium content in bones. 

(3) increase the amount of air exhaled by a person. 

(4) lessens the stiffness of the chest wall. 

13. The word 'exhale' means. 
(1) breathe in. 

(3) breathe slowly. 
14. Which one of the following statements is correct as per passage? 

(1) Exercise delays natural decay of old age. 
(2) Old age problems increase due to exercise. 

(3) Exercise increases the heart-beat which is dangerous. 
(4) Exercise creates stress which is harmful to bones. 

15. The chest wall becomes stiff in old age, because 
(1) The heare's ability to pump blood to it drops about one percent. 
(2) The blood flow to various organs decreases 
(3) The resting heart-rate becomes high. 
(4) The person's ability to exhale sufficient air lessens. 

16. Choose the one which best expresses the meaning of the idiom underlined. 
His singing took the audience by storm. 
(1) made happy 
(3) captivated 

17. Select the most appropriate alternative: 

answers 

t 

Jie, 

e 

(2) breathe out. 
(4) breathe fast. 

(2) praised 
(4) danced 

computer allows to deal with_lot of data quickly 

(1) a, the 
(3) the, a 

(2) the, the 
(4) the, an 
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18. Fill in the blank with the most suitable alternative to make the sentence meaningfully 
complete: 
If we tried hard, 
(1) We can succeed 
(3) We may succeed 

19. Select grammatically correct sentene from the given sentences 

(2) We would succeed 
(4) We will sucreed 

19 
(1) English is one of the most important language today 
(2) English is one of most important languages today 
(3) English is one of the most important lanquaqes today 
(4) English is one of the important languages today 

20. The y of the goat is called 

(1) growl 
21. Reanange the given parts of the sentence which are labelled PQ. R and S to make 

the most meaningtul sentence. 
(P) About 2000 years ago in the south of India (Q) an old king 
(R) nuled over his kingdom 
(1)QSRP 

22. Find out the part of sentence which has an error 
(A) The young child from the international school 

(B) singed a very sweet song 
)on the stage yesterday 

(D) No eror 
(1) A 

23. ldentify the underlined clause in the given sentence: 
It looks as if it might rain. 
(1) Noun clause 
(3) Adverd clause of manner 

(2) buzz (3) crook (4) bleat 

(S) called Raja Raman 
(2) SPQR (3) QPSR (4) QPRS 

(2) B (3) C (4) D 

(2) Adjective Clause 
(4) Adverb clause of result 

24. Select the combination of number so that letter aranged accordingly will form aa 
meningful word. 
IPE L OC 
12 3 4 5 6 

(1) 143526 
25. Choose the correct use of 'used to' in the given sentence: 

He would get up before dawn in his schools days. 
(1) He used to get up before dawn in his school days. 
(2) He would used to get up before dawn in his school days. 
(3) He used to got up before dawn in his school days. 
(4) He used get before dawn in his school days. 

26. Select the one which best expresses the following sentence in Indirect naration: 
"How amazing it is!" I said. 
(1) I exclaimed that it has been very amazing. 
(2) I exclaimed that it was very amazing. 

(3) I said that it was very amazing. 
(4) I exclaimed that it is very amazing. 

(2) 254163 (3) 3 45126 (4) 45 1 236 

TET fT TAaI TII-YYT E. INTT- R0RC /caa CdenauzeD 
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27. Choose the correct Question Tag for the given sentenCe 27. 
Manorama cannot complete her work in time 

(1) can Manorama? (2) Can not she? (3) can sher 

28. 

(4) Cann't Manorama 

Select the corect compound sentence for the given sentence: 

He must work very hard to make up for the lost time. 

(1) He must work very hard for making up for the lost time. 

(2) He must work very hard and make up for the lost time. 

(3) He must work very hard so as to make up for the lost time. 

(4) He must work very hard and made up for the lost time. 

29. Choose the corectly spelt word: 
(1) Hetrogenous 
(3) Hetterogenous 

30. 

(2) Hetrogeneous 
(4) Heterogeneous 

Select the word which is nearest in the meaning of the underlined words in tho 

sentence: 

1) tempest 
3) dangerous snowtfall 

2) snow storm with very strong winds 

4) storm in the desert 

31. 

(1) o adHTT61 (2) 3rqui yasT5 (3) tdi zfqrsa (4) 3ui ad4TT618 

32. aA-3H4AÍ Z7 S HtsaT. 32. 

(4)6- (1)aT2-aT 

33. gfeei 7z AoT. 

(1) 6 

(2) aret-aE (3)s- 

(2) H (3) E12 (4) Tae 

34. 

(2) fash-fas6 (3) t-gat (4) HTt-HrT ()Pr-F 
35 

(3) That far Te Forft (4) 3TE f fa 
36. 

(1) Tftes fat a (2) TTarNTa (3)Hs 3TH 

37. 374tufza Ta tT 
(1) FT 

38. rTufea na 3tI 
(1) FAT 

39 
(1) oitar 

(4) 4TA U 

(2)FHTT (3) (4) Fhaavi 

(2) ftro (3) T5HT (4) fHTER 

(2) 3qITara (3) f (4) 3THRY 

TET -fu UTAT TUI-UTT . IYtAAT - R08¢ / cav renIRci 
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J0. 
(1) FAHT (2) yq (3) fzat 4) w 

41 

(1) farqy (2) favvanH (3) HTHT4AI4 (4) HdrH 

42 

(1) aURA (2) 8TA (3) aMrar (4) ar 

(4) sfAETFTETRTeAT Tt 
44. yT gy ? 

(2) faayura 417 5U 
(3) HTHaT HI RY 

45. 

(2) utEYdtT RI ITU 

(4) vYata faa fHsa 

(1) 3AT-far (2) rig-aferr (3) E1-foT (4) -3ATT 

(1) 347iCRxfufsa (2) gfe* af(3) a aT (4) a1HT x AIHT 

(2) 19 (3) Btt 4) afea 

(1)gfsa (2) THfaan (3) T HS 

(1) fas (2)d (3) (4) HTT% 

acnuarD 
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51 (4) an q 
(1) VPTTA qsal (2) 3fm qasa (3) gm qosa} 

52. (4) 
(2) qatai arya (3)Hqyugeni 

() aEstt 
53. Taa aT qiu taug stasui 

(4) T+TAUU 
(1) T+a7y (2) TM+3JaHUI (3) TM+34aqU 

54 (4) fAiTA 41va 
(1) aTa tsa (2) yar yfsa 

55. HTaaras HTN AI4 aan. 

(2) 

(3) Hua 

(3) MEaI (4) 514 
() 

(1) taram (2) NT3 (3) gT (4) T34 

57. (4) TIST IN 
(2) THeT TGai (3) ATH THT 

58. 
(3) T (4)a (1) fa 

59. fazi TaFtA aTR HTZI. 

(1) TEATOT 3T 3aT 

(2) aIEAT 

(2) 31 514t 
aTai zT ETCT 

(4) HITETSt Ei HTot Ha1hloT a 

60. e ATATH 3THRYAT FTB T . 

(2) 7T4-it (1) 3TAATR (3) (4) TAl 

61. 

? 

(1) g (2) HHTTTA di(3) ATEA Gat (4) tfATaTu ut 
62. 

(37) feH TIST 
() 4A 

()TH 
(3)t H (iv) TFT TMHUT uA4T 

(1) )- 3 (i)-a (ii)-5 (iv)-3 

(2) (i)- 3 (i)-a (i)-37 (iv)-5 
(3) (i)- 3 (1i)- 3 (ii)-a (iv)- 

(4) i)- a i)-3 (i)-5 (iv)-3 

aensu2at 
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63. S TANAT faraurh uTetarti zurd wutai aru TR? 

(2) 2T4 AttrA7 3A FIUTUI HEr XHA. 

(3) AteuraE fAad HRT I6 àaTa. 
(4) 1 TATT YTJTaqEeTN fttem arasata faureatI aTAT Aara. 

64. 

(1) farTa fa sftHTF 
(3) 14 TTAI sfAHTA 

(2) arda utada ufdAA 

(4) THTY ATTRT sfa4ra 
65. 

(2) 1 HT HT-ETTTR 7AT T 

3) TIHTi aTatn ans T. 
66. 

(1) FTIS 
(3) THA HH% 

(2) za 

(4) TYT gA. 5. 

67. 

HUTHNTTEAN UTGIT 

(37) 4T U af HIHfse% 
) 31TTHtE 

(n) 4. . 

(iv). q. HTT 
(1) )- a (1i)-3 (1i)- 37 (iv)-7 

2) )- 3 (ii)-5 ii) - (iv)-3 

3) i)- 75 i)-3 (ii)-34 (iv) -
(4) (1)- 3 (11)-3 ii) - iv)- 5 

68. 
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69 

37741 ata. 

70. 

dHT 3fsraiE araaaa ? 
(1) bifEHTa (3)yfH (4) rifa44 

(2) 3ig 
71 

(2) gT () sfAST 
(4) RTTtera 

72. 

(2) FATH% yiHATT fa1441 TTTAa 5HT TI TH. 

(3) TATI ATT faerei aTa TAI AIa. 

73. 

(2) ag (3) fary4 (4) 3HTFHaISH (1) ao 
74. faaTeZi HAdia fèat, st, qsyu, itH4s, 3. 5A A aTTYha TYRUT 74. 

(1) HTT-ATFH5 JATE (2) TAGHTEH YT 

(4) Hfdir yarea (3) 34TRIFH5 YTaT 

gTHT 7 et 50 faeaiqa afa+aI forarata Tgo4 4 1 31. a 75. 
4 foct ? 

(1) 08 (2) 10 (3) 02 (4) 06 
76. GT feeiri faUTHTH ura faya fTH SY aNIA 3TE?76. 

(1) facsrH a af4af¥4ai 3ATGad. 

77.

(1) aifgs fee6THTEt 37aFAT 

(3) tYTA TET 

TET fraT TAT Ttizm-TVT %. R T- TR02 /eac 

(2) AT sfafaferarI 1 
(4) T sratm 

aeisHIPai 
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ATZTA. 

(2) af TiTd, HTad-t Taraqrd faenatau zrGT 
(3) faereat-t en aaita rifrafa u. 

(2) farHrT8I AITTÅ Yrav4r 14 3airn A. 

80. 

(2) ATH fasrHAT aT FATT FTTET AAMI. 

81. 

EIFiTT faua 374 3AT? 

2) 4ITqHEstet stsai gargatan sT. 

83 T feI fauH Td faUTTUTA R Ti? 
(1) 37797 as sfaT 34T. 
(2) 3a4HTH FITHUEUT ATA za. 

TET-f TAAT VUHT-YT . RFTNPAT TA R0R / ER faensuRai 
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3XHAHI 
84. 

(1) Hutvan 
(3) T 

(2) HT 
(4) tr AB CD ÈF 

85. 

86. TetatA arà sqTETUI fAHfv% faHTT TR? 

(2) fTFYTT TgkA AATR Ad. 

(4) tTer5 HHiEA 3TETTA. 

87. T fetrm Haunfavata faurATd6I Btud faua zq7 3TE? 

88. 

(37 HHMTT 4GYUIT TUTAU} Tfasfan 
(ii) zaTR uta4T 

(iv) 4i stT 
(1) (i)- (i)-7 (ii)-7(iv) -3 
(2) (i)-37 (i)-7 (ii) - 3 (iv)-7 

() 

(3) )- (i)-3 (üi)-a (iv)-7 
(4) i)-3 (ii)-7 (ii) -37 (iv)- 7 

89 

(1) afataivA dfaari ft 
(3) HiSUT fai TEAT 

(2) tatszrAI HHTTAT fA74 

(4) uETNTR 
TET-fT YTAAT VtTHT-TYT K. R XFAvtTAI - T R0R / c00 denri 
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90. . 3ATHRM ATAÍ Hiset TE 3AT faTa aT TkJTEATTt srartt zaTti GTfA 

(1) HanA (2) yftara Et 
(4) HHTENTA 

HTT HTATGT5 TA 

91. t T 1RN A.. ...TUaT 3AT. 
(1) 

92. tu-Aat ai garA fGI. 
(1) visa tTT 

(2) tTMTETR (3) HTHATEA (4) ThE 

(2) TRTAT 
(4) TTTAT HT% 

93. 

(1)HPT 
94. 44E 4 ARATd utei HEUTE.. ...4 F5 G. 

(1) fa 
95. 4Ts faraskrà ufRa HUTRF 

(2) bIT (3) TTE (4) FTATT 

(2)TST (3) F (4) aT 
.. 

(2) Thid aPTTE=t ast 

(4) aftrat frI aTS(3) . HEaAt TRt 
96. 7 zatAi zareratt a sveH9dtat gca.. 

(1) 37 
97 

(1) Tefesr 3fre6rt 

(3) 3T 

(2) ata (3) T (4)a 

4) HTe 

99. HTTaTd TM, HERTT, TAHETT aTHTRAI TE E HTA 3ATET RVI.. 

(4) FRATZT TUTferEET FAH ZTT a. 

TET frer TI THan-dr . Tf - g R0% / co oerRdi 
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(1) 1947 HT Ara èm ana TET. 

(2) tiAI FrT 7 

(4) TeTN5 

(2) FH1 afUaT 
(3) fazapI fa 3zARTA 

(4) Haforss HTFGfAs 3fr5NTA 
103. 4TTlA 5I6uft-ar HtaYTA A HG HIT........75} ATT. 

(2) 299 

(4) 389 

(1) 229 

(3) 70 

104. 34fta afauATA/ueAi TRT fAHiUT Tt AUI.. 
(1) fa a4 Bit TGA. 

(1) faasys TAT 

(3) T s4s6 
106. Te fetoa sai TAi sie 

(1) arUT-TTETE 
(3) TTT-TTTE 

107. aruT faoai JuaTA1.. 

(2) faeeM 
(4) qTYYT 

(2) Hac-fa9TTST 
(4) HIaT-YATYTS 

....T. 
(1)Br4 (2) $AT 

(4) 3AT4 
108. TATdia yrd FAS 347TA TOTA 3HTAI TTuA Terrdtm.......51T9 

3) a7 

TEUTATA. 

(1) fert 
(3) fash4 aa 

TET IE TTAT THNT-TUT K. ItHAT - ROR / coR 

(2) TeraTEA T5 

(4) TERITE 
densRai 
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109. 3, 3E6, Aur B1.. 
(1) gfa 
(3) HHNNTEfA 

110. vt au stas.. 
(1) *adi 

(2) t 
(4) wem 

(2) 4T (3) (4) 4 111 

(3) 73 (i) 
(i) 

(75) HTHT 
(3 3FVad 
(1) -(i) - () - (0) 3 - (iv) 

(iv) tea dtaATdta agh, qza 

(2) -(ii) - ) () 3 (iv) 
(3) - (iv) - () - ) 3- () 
(4) -() - (iv) - 3 11) 

112. 3PHTua: HTTTS :: ute T:? 
(1) AMEG (2) H77T 

..3HT 
(3) Tttsatayu (4) aqTt 

113. 6i T4 E. 

(1) TbAuta (2) FTUHte (3) 4TTHTta (4) 3HTaaHTT 
.....H 3T4 ETT. 

(1)FF (2) HST 
115. 3H1 aiterblHTTt TYAT..... 4-1 e. 

(3) 1H (4)1 

(1) T8II 
3) HE uisI d 

(2) HEST fgT THst T 
4) famuyeTEt yfsa 

(1) HÍ-4 1 
(3) tetz TI 

17. FA4, TAT, }ATRT, 34frd Ki da......uHfst era TRA. 
(1) aTa 

(2) HTH-He gurUT TQT 
(4) HTY4A HTA 

(2) 3) afc (4) 

(2) 1FPTfh 
(4) HTA T (3) gTTH 

119. 3TS JTA. 

(1) Mra (2) H (3) h (4) 3T7 

(2) 3f fAREA 
(4) aTT JTH (3) F 

TET fRe TAAI TT-TUT %. NNT RORE /C9 taenoueeiD 
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(4) aTm 
(1) ëyg 

122. HERTEa TRAT T a, TST �UT faT KTSHEI .. 

(1) 
(3) 367fet 

123. ERTgra Grriati u fut 4Ta HRTea T... 

(2) T (3) TrTS 

(2) 37-HSY 

(4) frTEEH`H 

2) aTTe 

(4) 3tTeT 
(1) hsa 

(3) TA 

124. faHs7 ada t..TGAI ATE. 

(1) Tbida TGt
(3) 1at4dita TGAi 

(2) qafrd 3HTGf 
(4) HTTAtY 3ATHt 

(1) 3T3 37HIT GIS 

(3) ET 374TiT GIS 

126. TETTA 3PRT.. T a M aTI TE. 

(1) faER 
(3) 3riHTT 

127. FtTUITdtT HATM T.....TT 3HaTN Td. 

(2) T5 HHTT GKI 

(4) 3HI HATRI TTST 

(2) FTES 

(4) 3feaT 

(1) faTa z7Et 
(3) tfAEntt% IER 

128. HTHt aTt Z4T4 hgAT H8TT q4 T? 

(1) ga- 

(2) Mfores TE 
(4) 4TTt T 

(2) HTT 
4) 3t6 (3) gAH 

129. 3&T ZaYE.....HHTT T 
(1) 3AfaEs 

(3) r 

130. fHTATE TeYda qpa fse4 ara T.....F IT4 qad. 

(1) frg 
(3) fHTa 

131. Fiain foEro7H 3KTdti HTEHT ...6IEAI TIIHEi=t 3218Tu ai. 

(2) af 

(4) 3He 

(2) F 
(4) HaTT 

(1) a (2) A/g 
(3) T 

132. f4reTciT 7 HU 3TEATT SHAT I.... 

(1) TeT 

(3) gRT 
TET fTG T7AT TtAT-qUT n. IFHVÍPA TR0?E / cov 

(4) RTHT5 
..6415 Pa 

(2) faT 

(4) ET 
faenseD 
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133. HT4T 
(1) HEAtEh HETHTPRT 

(3) 18i TTIPRT (2) uferzea 
(4) H HPNT 

134. 
(1) bT (2) taf da (3)Auft% anq (4) atru 

135. Tt 

1 . 

(2) 
136. geai guiytadi satT EIGA TI... 

(2) vyg 
137. yaaraT TE4Ta{T Fa HT 37aqA. 

(2)T 

(1) (3) 4) 
...5UIGIG 

(1) utaca (3) 3H8ta T (4) t r 

(3) fagaga (4) IRTTT 
138. HTIT TT YTATdtT, FIdii Fata Htd aE..... ..A TATA 3TB. 

(1) Bt (2) TS (3) TT (4) TEyAT 

(2) 3AdE 
140. ze ziax i TItt-HRA IEUTHTI TT. 7 aa. 

(2) T zT3 

(1) asa (3) 377 (4) 3HEyAT 

(1) FaT (3) FTHTTH (4) 975% 

(2) zitei srta (3) TfTAT (4) 3FATM (1)T97 
142. HH HYTÉIar argara.. eR 341. 

(3) 1015.2 (4) 1016.2 (2) 1014.2 

143. aT TBIRÍta HTIT T ETUIRT ATI.... 
(2)TT 

(1) 1013.2 

(1) stffhaT (3) 3H9 (4) 34 
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144. tITTTa.... HTT Hata ztrn ¥H 

(1) e 
(3) RS 

(2) fr4 

(4) feffrs1 

145. 
(2) 3HTT 

(3) 377ifg4 (4) 

() TUTE514 q41 

(3) ATRHTA eH 
147. iaI sATa.. E7 TR Td. 

(1) faero 
148. HafEi Gscia Haa RrGr... 

(2) TA YAHTT 

(4) 4TTT aaHT 
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